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P - II (1+1+1) G / 20 (N) SUP

2020

ECONOMICS (General)
Paper Code : II-A & B

[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : II-A
Full Marks : 50 Time : One Hour

Choose the correct answer.

Each question carries 2 marks.

1. Detect the relationship between AR & MR under perfectly competitive market.

(A) AR = MR

(B) AR > MR

(C) AR < MR

(D) AR MR

1Ð þ™)’Å ²Ì!“þöìëy!†“þy›)œ„þ îy‹yöìîû †vþü ç ²Ìy!hsþ„þ xyöìëûîû ›öì•Ä ¢Á™„Åþ !˜•Åyîû’ „þîûéôôôé

(A) AR = MR

(B) AR > MR

(C) AR < MR

(D) AR MR

2. Which one of the following is true for the break-even point under perfect
competition ?

(A) It is only an incidence of short run

(B) It is only an incidence of long run;

(C) It is an incidence of both short and long run

(D) It is true for all the above

2Ð þ™)’Å ²Ì!“þöìëy!†“þy›)œ„þ šþyöì›Åîû xyëûéôéîÄëû ¢›“þyîû !î¨%éôôôé

(A) ö„þîœ›ye ßþºÒ „þyöìœ ö”…y ëyëû

(B) ö„þîœ›ye ”#‡Å„þyöìœ ö”…y ëyëû

(C) ßþºÒ ç ”#‡Å vþz¦þëû„þyöìœ£z ö”…y ëyëû

(D) çþ™öìîûîû ¢îÝþy£z ¢“þÄ
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3. Which of the following cannot be seen in the monopoly market —

(A) Price discrimination

(B) Profit maximization

(C) Always positive profit

(D) Elastic demand

3Ð ~„þöì‰þ!Ýþëûy îy‹yöìîû ˜#öì‰þîû ö„þy˜!Ýþ ö”…y ëyëû ˜y Ú

(A) ”y› !îöì¦þ”„þîû’

(B) ›%˜yšþy ¢îÅy!•„þîû’

(C) ¢îÅ”y£z •˜yd„þ ›%˜yšþy

(D) !ßþi!“þßþiyþ™„þ ‰þy!£”y

4. The relationship of the slope of AR and MR under monopoly market structure —

(A) Slope of AR = ½ of the slope of MR

(B) Slope of AR = Slope of MR

(C) Slope of AR = 2. Slope of MR

(D) None of the above

4Ð ~„þöì‰þ!Ýþëûy „þyîûîyîû#îû AR ç MR ~îû ‘þyöìœîû ¢Á™„Åþé ôôôé

(A) AR öîû…yîû ‘þyœ = ½ MR öîû…yîû ‘þyœ

(B) AR öîû…yîû ‘þyœ = MR öîû…yîû ‘þyœ

(C) AR öîû…yîû ‘þyœ = 2 MR öîû…yîû ‘þyœ

(D) çþ™öìîûîû ö„þyöì˜y!Ýþ£z ˜ëû
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5. Which of the following depicts the true relationship between VMP and MRP under
perfectly competitive input market ?

(A) VMP = MRP

(B) VMP > MRP

(C) VMP < MRP

(D) None of the above

5Ð ˜#öì‰þîû ö„þy˜!Ýþ þ™)’Å ²Ì!“þöìëy!†“þy›)œ„þ vþzþ™„þîûöì’îû îy‹yöìîû VMP ç MRP ~îû ›öì•Ä ¢!àþ„þ ¢Á™„Åþ
îÄ_« „þöìîû Ú

(A) VMP = MRP

(B) VMP > MRP

(C) VMP < MRP

(D) ç™öìîûîû ö„þyöì˜y!Ýþ£z ˜ëû

6. By what name do you call a rent that arises from the same grade of land ?

(A) No difference rent

(B) Scarcity rent

(C) Differential rent

(D) Equity rent

6Ð ¢î ‹!›£z ë!” ¢›y˜ vþzî¹Åîû £ëû “þy£öìœ öë …y‹˜y vþzqî £ëû “þyöì„þ îöìœéôôôé

(A) þ™yíÅ„þÄ£#˜ …y‹˜y

(B) x¦þyî‹!˜“þ …y‹˜y

(C) þ™yíÅ„þÄ‹!˜“þ …y‹˜y

(D) ¢›¦þyî‹!˜“þ …y‹˜y
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7. What is the relation between value of monetary wage and real wage ?

(A) Both are equal

(B) The real wage is higher than monetary wage

(C) The real wage is less than monetary wage

(D) Monetary wage is a product of real wage and price level

7Ð xy!íÅ„þ ›‹%îû# ç ²Ì„,þ“þ ›‹%îû#îû ¢Á™„Åþ „þ# Ú

(A) þxy!íÅ„þ ›‹%îû# ç ²Ì„,þ“þ ›‹%îû# þ™îûßþ™îû ¢›y˜

(B) xy!íÅ„þ ›‹%îû# xöìþ™Çþy ²Ì„,þ“þ ›‹%îû# öîŸ#

(C) þxy!íÅ„þ ›‹%îû# xöìþ™Çþy ²Ì„,þ“þ ›‹%îû# „þ›

(D) ²Ì„,“þ ›‹%îû#öì„þ ”y›hßþîû !”öìëû =’ „þîûöìœ xy!íÅ„þ ›‹%îû# þ™yçëûy ëyëû

8. Define Economic profit.

(A) Profit that equals to wage of the entrepreneur

(B) Profit which is greater than the wage of the entrepreneur

(C) Profit earned from economic activities only

(D) Total remuneration of the entrepreneur for the productive activities

8Ð xíÅ÷ì̃ !“þ„þ ›%˜yšþyîû ¢‚Kþy ”yçéôôôéé

(A) öë ›%̃ yšþyîû ›öì•Ä ö„þîœ›ye vþzöì”Äy_«yîû ›‹%îû#£z íyöì„þ

(B) öë ›%̃ yšþyîû ›öì•Ä ö„þîœ›ye vþzöì”Äy_«yîû ›‹%îû#îû xöìþ™Çþy x!•„þ

(C) öë ›%˜yšþyîû ›öì•Ä ö„þîœ›ye xíÅ÷ì˜!“þ„þ „þy‹ öíöì„þ£z x!‹Å“þ £ëû

(D) vþzöì”Äy_«y vþzêþ™y”˜›%…# „þy‹ öíöì„þ ö›y˜ öë þ™!îû›y˜ ›%˜yšþy x‹Å̃  „þöìîû
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9. What is homogeneous product ?

(A) The commodity which are sold in a perfectly competitive market

(B) Commodities which are perfectly substitute to each other

(C) Commodities which are similar with respect to colour, flavour, wrapper, size,
quantity, and quality

(D) All the above

9Ð ¢›‹y“þ#ëû oîÄ îœöì“þ !„þ öîyGþ Ú

(A) þþ™)’Å ²Ì!“þöìëy!†“þy›)œ„þ îy‹yöìîû öë oîÄ !îe«ëû £ëû

(B) öë oîÄ=!œ þ™îûßþ™öìîû ¢Á™)’Å þ™!îûî“Åþ oîÄ

(C) þöë oîÄ=!œ î’Å– †õþ– ö›yvþü„þ– xy„þyîû– xyëû“þ˜ ç =’†“þ ›y˜ ~„þ ~î‚ x!¦þ§¬

(D) çþ™öìîûîû ¢îÝþy£z ¢“þÄ

10. Which of the variables determine the equilibrium rate of interest under classical
purview ?

(A) Demand and supply of the commodity

(B) Demand and supply of money

(C) Demand for investment and supply of saving

(D) Demand and supply of loan able fund

10Ð „Ïþy!¢„þyœ “þöì_´ ¢%öì”îû £yîû !˜•Åy!îû“þ £ëû ö„þy˜ ”%!Ýþ Ÿ!_«îû ‡y“þ ²Ì!“þ‡yöì“þ Ú

(A) oöìîÄîû ‰þy!£”y ç öëy†y˜

(B) xöìíÅîû ‰þy!£”y ç öëy†y˜

(C) !î!˜öìëûy† ‰þy!£”y ç ¢Mþéöìëûîû öëy†y˜

(D) }’öìëy†Ä “þ£!îöìœîû ‰þy!£”y ç öëy†y˜
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11. Which of the economic variables determines the speculative demand for money ?

(A) Consumers’ income

(B) Rate of Interest

(C) Supply of money

(D) All the above

11Ð šþyÝþ„þy „þyîûîyöìîû xöìíÅîû ‰þy!£”y !˜•Åy!îû“þ £ëû éôôôé

(A) ö¦þy_«yîû xyëû myîûy

(B) ¢%öì”îû £yîû myîûy

(C) þxöìíÅîû öëy†y˜ myîûy

(D) çþ™öìîûîû ¢îÝþy£z !àþ„þ

12. According to Liquidity Preference Theory what will happen to the rate of interest if
the income level rises ?

(A) Interest rate will diminish

(B) Interest will rise

(C) Interest rate will remain unchanged

(D) Cannot be predicted

12Ð “þyîûœÄ þ™Šé¨ “þöì_´ xyëû îyvþüöìœ ¢%öì”îû £yöìîûîû vþzþ™îû !„þ ²Ì¦þyî þ™vþüöìî Úé

(A) ¢%öì”îû £yîû £Éy¢ þ™yöìî

(B) ¢%öì”îû £yîû î,!kþ þ™yöìî

(C) þ¢%öì”îû £yîû xþ™!îûî!“Åþ“þ íy„þöìî

(D) îœy ¢½þî ˜ëû
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13. Which of the following is the suitable policy of recovery if the economy falls into
the liquidity trap ?

(A) Monetary policy

(B) Fiscal policy

(C) Both

(D) None of the above

13Ð “þyîûœÄ š¤þy” öíöì„þ xíÅ˜#!“þöì„þ vþzkþyöìîûîû vþzþ™yëû „þ# Ú

(A) xy!íÅ„þ ˜#!“þ

(B) !šþ¢„þyœ ˜#!“þ

(C) vþz¦þëû£z

(D) çþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû

14. Which of the following is not the monetary instrument for the Central Bank ?

(A) Open market operation

(B) Cash Reserve Ratio

(C) Bank rate

(D) Income Tax

14Ð ˜#öì‰þîû ö„þy˜!Ýþ ~„þ!Ýþ ö”öìŸîû ö„þw#ëû îÄyöìBþîû xy!íÅ„þ ˜#!“þ ˜ëûÚ

(A) ö…yœy îy‹yöìîûîû !e«ëûy„þœyþ™

(B) ˜†” ‹›yîû x %̃þ™yöì“þ þ™!îûî“Åþ˜

(C) þîÄyBþ £yöìîûîû þ™!îûî“Åþ˜

(D) xyëû„þîû
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15. Which one is less detrimental ? Inflation or, deflation —

(A) Deflation

(B) Inflation

(C) Both are equally detrimental

(D) Cannot be diagnosed

15Ð ›%oy ¢‚öì„þy‰þ ç ›%oyßþ³þ#!“þîû ›öì•Ä ö„þy˜!Ýþ xöìþ™Çþy„,þ“þ „þ› Çþ!“þ„þîû Úé

(A) ›%oy ¢‚öì„þy‰þ

(B) ›%oyßþ³þ#!“þ

(C) þ”%öìÝþy£z ¢›y˜ Çþ!“þ„þîû

(D) îœy ¢½þî ˜ëû

16. For which of the following tax the impact of tax and the incidence of tax affect two
separate individuals ?

(A) Direct Tax

(B) Indirect Tax

(C) Proportional Tax

(D) Progressive Tax

16Ð ö„þy˜ „þöìîûîû „þîû ‡y“þ ç „þîû þ™y“þ !¦þ§¬ !¦þ§¬ îÄ!_«îû vþzþ™îû þ™!“þ“þ £ëû Ú

(A) ²Ì“þÄÇþ „þîû

(B) þ™öìîûyÇþ „þîû

(C) ¢›y %̃þ™y!“þ„þ „þîû

(D) ²Ì†!“þŸ#œ „þîû
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17. By whom the Absolute Cost Difference theory of International Trade was
prefunded ?

(A) Adam Smith

(B) David Ricardo

 (C) Alfred Marshal

(D) J.M. Keynes

17Ð þ™)’Å îÄëû þ™yíÅöì„þÄîû ¢%!î•y “þ_´!Ýþîû ²Ìöì’“þy ö„þ Ú

(A) þxÄyvþy› ßþ¿#í

(B) övþ!¦þvþ !îû„þyöìvÅþy

(C) xyœöìšÊþvþ ›yŸÅyœ

(D) ö‹. ~›. ö„þ£zª

18. How much credit will be created from a primary deposit of 25 Crores and cash
reserve ratio of 5 percent ?

(A) 125 Crores

(B) 50 Crores

(C) 500 Crores

(D) None of the above

18Ð ö„þy˜ ~„þ!Ýþ xyíÅ îÄîßþiyëû ˜†” ‹›yîû x˜%þ™y“þ 5 Ÿ“þy‚ŸÐ ~£z xyíÅ îÄîßþiyëû 25 ö„þy!Ýþ Ýþy„þyîû
²Ìyí!›„þ xy›y˜“þ ¢,!ÜT £öìœ ö›yÝþ }’ ¢,!ÜTîû þ™!îû›y’ „þ“þ Ú

(A) þ125 ö„þy!Ýþ

(B) 50 ö„þy!Ýþ

(C) 500 ö„þy!Ýþ

(D) çþ™öìîûîû ö„þyöì˜y!Ýþ£z !àþ„þ ˜ëû
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19. Which one of the following tax is not imparted by the Union Government of India ?

(A) Income Tax

(B) Goods and Services Tax

(C) Professional Tax

(D) Import Duty

19Ð ˜#öì‰þîû ö„þy˜!Ýþ ö„þw#ëû ¢îû„þyîû „þ“,Åþ„þ ²Ì’#“þ „þîû ˜ëûÚ

(A) þxyëû„þîû

(B) oîÄ ç þ™!îûöì¡ìîy „þîû

(C) î,!_ „þîû

(D) xy›”y˜# ÖÍñ

20. Which one of the following is not a direct tax ?

(A) Capital Gain Tax

(B) Wealth Tax

(C) Professional Tax

(D) Excise Duty

20Ð ˜#öì‰þîû ö„þy˜!Ýþ ²Ì“þÄÇþ „þîû ˜ëûÚ

(A) ›)œ•˜#œy¦þ „þîû

(B) ¢Á™” „þîû

(C) î,!_ „þîû

(D) xyî†yîû# Ö„Ïþ
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21. Which one of the following is not included into the social security measures of
Indian workers in the formal sectors ?

(A) Provident Fund

(B) Old age Pension

(C) Maternity Leave

(D) Life Insurance Scheme

21Ð ˜#öì‰þîû ö„þy˜!Ýþ ¦þyîû“þ#ëû ×!›„þöì”îû ¢y›y!‹„þ ¢%îûÇþy îÄîßþiyîû xhsÅþ¦%þ_« ˜ëû Ú

(A) þ¢y•yîû’ ¦þ!î¡ìÄ!˜!• “þ£!îœ

(B) îy•Å„þÄ ¦þy“þy

(C) ›y“,þc„þyœ#˜ Š%é!Ýþ

(D) ‹#î˜î#›y ²Ì„þÒ

22. Which of the following is not a constituent of the Capital Market of India ?

(A) Equity

(B) Mutual Fund

(C) Gilt Edge Market

(D) None of the above

22Ð ö„þy˜!Ýþ ¦þyîûöì“þîû ›)œ•öì˜îû îy‹yöìîûîû x‚Ÿ ˜ëûÚ

(A) þ£z„%þÄ!Ýþ

(B) !›vþz‰%þëûyœ šþyuþ

(C) Gilt Edge Market

(D) çþ™öìîûîû ö„þyöì˜y!Ýþ£z ˜ëû



Page :  14  of  20

23. What do mean by Golden Handshake Policy ?

(A) Voluntary Retirement Scheme

(B) Suspension of excess workers

(C) Compensatory benefit for the suspended workers through NRF Scheme

(D) All the above

23Ð Golden Handshake Policy îy !î”yëû ˜#!“þ îœöì“þ !„þ öîyGþ Ú

(A) þößþºFŠéyëû xî¢îû ²Ì„þÒ

(B) vþzm,_ ×!›„þ Šé¤yÝþy£z

(C) NRF ~îû ›y•Äöì› Šé¤yÝþy£z £çëûy ×!›„þöì”îû Çþ!“þþ™)îû’ ²Ì”y˜

(D) çþ™öìîûîû ¢îÝþy£z ¢“þÄ

24. Why the Government of India adopted the policy of Import Substitution ?

(A) To protect the infant industry

(B) To save the foreign currency

(C) Inability to expand export

(D) All the above

24Ð ¦þyîûöì“þ xy›”y˜# þ™!îûî“Åþ“þyîû ˜#!“þ x %̃¢îûöì’îû „þyîû’ ö„þy˜!Ýþ Ú

(A) þ¦þyîûöì“þîû !ŸÖ !ŸöìÒîû ¢‚îûÇþ’

(B) !îöì”Ÿ# ›%oyîû ¢y×ëû

(C) îû®y!˜ ²Ì¢yöìîû xþ™yîû†“þy

(D) çþ™öìîûîû ¢îÝþy£z ¢“þÄ
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25. What impact do you expect from a devaluation of domestic currency ?

(A) Commodities will be cheaper in the domestic market

(B) Domestic product in the export market will be dearer

(C) Cannot be predicted

(D) None of the above

25Ð ›%oyîû xî›)œÄyëûöì̃ îû šþöìœ ö”Ÿ#ëû îy‹yöìîû !„þ ²Ì¦þyî þ™vþüöìî Ú

(A) ö”Ÿ#ëû îy‹yöìîû oîÄ ¢y›@ùÌ#îû ”y› „þöì› ëyöìî

(B) !îöì”Ÿ#ëû îy‹yöìîû ö”Ÿ#ëû oîÄ ¢y›@ùÌ#îû ”y› öîöìvþü ëyöìî

(C) îœy ¢½þî ˜ëû

(D) çþ™öìîûîû ö„þyöì˜y!Ýþ£z !àþ„þ ˜ëû

—————
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P - II (1+1+1) G / 20 (N) SUP

2020

ECONOMICS (General)
Paper Code : II-B
[New Syllabus]

(Supplementary)

Full Marks : 100 Time : Three Hours

The figures in the margin indicate full marks.

SECTION : I

1. Answer six questions taking any two from each of the groups. (Within 250 words) :
5×6=30

Group - A

(a) How can you determine the supply curve of a firm under perfect competition ?

(b) What do you mean by innovation? How can you relate profit wit innovation ?

(c) What do you mean by supply price of an input? How is it related to the rent ?

(d) Prove that the price elasticity of a monopolist cannot be less than unity.

Group - B

(e) Point out two short comings of the classical theory of interest.

(f) What do you mean speculation ?

(g) How bank rate works in controlling the supply of money ?

(h) Explain the concept of inflationary gap with a suitable diagram.
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Group - C

(i) Enumerate the features of cottage industries in Indian economy.

(j) Explain the export substitution policy of India.

(k) What are the principal causes of industrial sickness in India.

(l) Distinguish disinvestment from privatization in Indian economy.

SECTION : II

Answer all the questions (within 500 words) : 10×3=30

2. Explain equilibrium position of a monopolist with suitable diagram.

Or,

Discuss the marginal productivity theory of distribution with suitable diagram.

3. Discuss the credit creation mechanism of the commercial bank with suitable
example.

Or,

Give arguments for and against the progressive taxation.

4. Critically evaluate the credit control policy of the Reserve Bank of India.

Or,

Discuss in brief the social security measures of the workers under informal sector in
India.

SECTION : III

Answer any two questions of the following  (within 1000 words) : 20×2=40

5. (a) What do you mean by discriminating monopoly ?

(b) Discuss the equilibrium position of a discriminating monopolist with suitable
diagram.

(c) What is absolute price discrimination ? 6+10+4
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6. (a) Where from the supply of loanable fund comes ?

(b) What are the sources of demand of loanable fund ?

(c) How the equilibrium rate of interest is determined by the demand and supply of
loanable fund ? Discuss with a suitable diagram. 6+6+8

7. (a) Discuss the trend and composition of Indian export trade during the post
independent period.

(b) Discuss the steps taken by the Government of India to increase export trade.

îDy %̃îy”

ö¢„þŸy˜ ­ 1

1Ð ²Ìöì“þÄ„þ !î¦þy† öíöì„þ öë ö„þyöì̃ y þ”%!Ýþ „þöìîû ö›yÝþ Šé!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 5×6=30

!î¦þy† éôé „þ

S„þV þ™)’Å ²Ì!“þöìëy!†“þy›)œ„þ îy‹yöìîû ~„þ!Ýþ šþyöì›Åîû öëy†y˜ öîû…y !„þ¦þyöìî !˜•Åyîû’ „þîûy ëyëûÚ

S…V vþzqyî˜ îœöì“þ !„þ öîyGþ Ú ›%̃ yšþyîû ¢yöìí ~îû ¢Á™„Åþ „þ# Ú

S†V öëy†y˜ ”y› îœöì“þ !„þ öîyGþ Ú ~îû ¢yöìí …y‹˜yîû ¢Á™„Åþ „þ# Ú

S‡V ²Ì›y’ „þîû öë ~„þ‹˜ ~„þöì‰þ!Ýþëûy „þyîûîy!îûîû ‰þy!£”yîû ”y›†“þ !ßþi!“þßþiyþ™„þ“þyîû ›y˜ ~öì„þîû
ö‰þöìëû „þ› £öì“þ þ™yöìîû ˜yÐ

!î¦þy† éôé …

SˆV „Ïþy!¢„þÄyœ ¢%” “þöì_î́û ²Ì•y˜ ²Ì•y˜ e&!Ýþ=!œ xyöìœy‰þ˜y „þìîûÐ

S‰þV šþyÝþ„þy „þyîûîyîû îœöì“þ !„þ öîyGþ Ú

SŠéV ˜†” xöìíÅîû öëy†y˜ !˜ëûsþföì’ îÄyBþ öîûÝþ !„þ¦þyöìî „þy‹ „þöìîû Ú

S‹V ›%oyßþ³þ#!“þîû îÄî•y˜ îœöì“þ !„þ öîyGþ !‰þe¢£ öœì…Ð
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!î¦þy† éôé †

SGþV ¦þyîû“þ#ëû xíÅ̃ #!“þöì“þ „%þ!Ýþîû !ŸöìÒîû ÷î!ŸÛþÄ=!œ ¢‚öìÇþöìþ™ öœ…Ð

S~ŒV ¦þyîû“þ ¢îû„þyöìîûîû îû®y˜# þ™!îûî“Åþ“þyîû ˜#!“þ!Ýþ îÄy…Äy „þîûÐ

SÝþV ¦þyîûöì“þîû öœ˜öì”˜ vþzm,öì_îû ¢yÁ±!“þ„þ xîßþiy ¢Á™öì„Åþ ¢‚!Çþ® !îîîû’ ”yçÐ

SàþV ¦þyîû“þ#ëû !ŸöìÒîû îû&@À“þyîû „þyîû’ !„þ Ú

SvþV ¦þyîû“þ#ëû xíÅ îÄîßþiyëû !îœ@À#„þîû’ ç öî¢îû„þyîû#„þîûöì’îû ›öì•Ä þ™yíÅ„þÄ „þîûÐ

ö¢„þŸy˜ ­ 2

˜#öì‰þîû ²ÌÙÀ=!œîû vþz_îû ”yç­ 10×3=30

2Ð ~„þöì‰þ!Ýþëûy „þyîûîy!îûîû ßþºÒ„þyœ#˜ ¦þyîû¢yöì›Äîû xîßþiy!Ýþ !‰þe¢£ îÄy…Äy „þìîûÐ

xíîy

îrÝþöì̃ îû ²Ìy!hsþ„þ vþzêþ™y”˜Ÿ#œ“þyîû “þ_!́Ýþ !‰þe¢£ xyöìœy‰þ˜y „þîûÐ

3Ð îy!’!‹Ä„þ îÄyöìBþîû }’ ¢,!ÜTîû ²Ì!e«ëûy!Ýþ ~„þ!Ýþ vþz”y£îû’ ¢£öìëyöì† xyöìœy‰þ˜y „þìîûÐ

xíîy

²Ì†!“þŸ#œ „þöìîûîû þ™öìÇþ ç !îþ™öìÇþ ë%!_« ”yçÐ

4Ð ¦þyîû“þ#ëû !îû‹y¦Åþ îÄyöìBþîû }’ !˜ëûsþf’ ˜#!“þ!Ýþ þ™ëÅyöìœy‰þ˜y „þìîûÐ

xíîy

¦þyîû“þ#ëû xíÅ îÄîßþiyëû x¢‚†!àþ“þ ×!›„þöì”îû ¢y›y!‹„þ ¢%îûÇþy ²Ì„þÒ=!œ ¢‚öìÇþöìþ™ xyöìœy‰þ˜y „þìîûÐ
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ö¢„þŸy˜ ­ 3

˜#öì‰þîû öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 20×2=40

5Ð S„þV !îöì¦þ”›)œ„þ ~„þöì‰þ!Ýþëûy „þyîûîyîû îœöì“þ !„þ öîyìGþ Ú

S…V !îöì¦þ”›)œ„þ ~„þöì‰þ!Ýþëûy „þyîûîy!îûîû ¦þyîû¢y›Ä !‰þe¢£ îÄy…Äy „þîûÐ

S†V ¢Á™)’Å ”y› þ™,í„þ#„þîû’ îœöì“þ !„þ öîyìGþ Ú 6+10+4

6Ð S„þV }’öìëy†Ä “þ£!îœ “þöì_ ́ }öì’îû öëy†y˜ !„þ¦þyöìî ¢,!ÜT £ëû Ú

S…V ~£z “þöì_ ́ }öì’îû ‰þy!£”yîû vþzê¢ =!œ xyöìœy‰þ˜y „þöìîûyÐ

S†V }’öìëy†Ä “þ£!îœ “þöì_ ́ }öì’îû ‰þy!£”y ç öëy†y˜ !„þ¦þyöìî ¦þyîû¢yöì›Äîû ¢%öì”îû £yîû !˜•Åyîû’
„þöìîû !‰þe¢£ xyöìœy‰þ˜y „þöìîûyÐ 6+6+8

7Ð S„þV ßþºy•#˜öì“þy_îû „þyöìœ ¦þyîûöì“þîû xyhsþ‹Åy!“þ„þ îy!’öì‹Äîû †!“þ ²Ì„,þ!“þ xyöìœy‰þ˜y „þìîûÐ

S…V îû®y˜# î,!kþîû œöìÇþÄ ¦þyîû“þ ¢îû„þyîû „þ“,Åþ„þ †,£#“þ !î!¦þ§¬ þ™”öìÇþþ™ ¢›)£ xyöìœy‰þ˜y „þìîûÐ
10+10

–––––––––––


